
04/2016 Active with kids

Thule RideAlong
100106, 100107, 100108

52479

52478

52736 M6x44  
for round frames

52737 M6x58
for oval frames

x4

x4 (M6x44)

x4 (M6x58) x1

x2
x4

100202

52735

52480 light grey/orange 
52481 dark grey/purple

52477

52536

52535

+

= N.....

No 
N001-N200
Sparepart No
1500001001 - 1500001200

No 
N001-N200
Sparepart No
1500002001 - 1500002200

Key+Lock

Key


